CURE N  EUE SRR R 2

§4.2 MY ESMHHEY

42,1 B WS M R
%38 - .

MESE Y.

(13— g8 4 R0 R 20 BBk 32 )20

(DB 3 =9, r=7 (R 3 =8, r XL

I s 4 o A9 O] R, BB LR R MO RN O, SRR RN, T
) B 1 (ol 8 2 P — ). FRETIREG B AEWOR . MR T M B 2 iy
. RAPEERARMER. SEIA-HEMNER. —BCmESmeE
AR HOY =

—hiih. Mo =N{a=0, BHa+1), LA xHELla BTNV 8
W, 24E x=log N, HeRa MMM RS EIRE), NuUMITE.

B, 2 =8 WitfE 3=log. 8. 3 ML 2 FNC 8 WRSEL

AT o =N MHEE Y. log N=0 MENEL. ENXELT,

H¥ 4w
]
a =N o log N = &
HE$%
HEHE 0 R0 LEF . AT RLF R
(EMGHRAHL;
(2)log. 1=0, BD 1 @ZFEH 0;
(3)log.a=1, BIEMAIREH 1
Hepe a0 Hae#l
il BYFAEA) B G SR L R PR
HAVBLL 10 HEMAXI MR WA A, N AR AN log, N @i2F
Ilg V. B, log,.5 MiciE lg 5.
e RRATE, REMB, CHMR 2718 28, FHEERD
WEL e fERTTEMICEH, e YEHIMBHBAATH. VHERTHY
log, N W 24E In N, 0. Top, 8 fTicd6F In 8.

17



E W ok e B W

S ELLL

81 R R T e T
(115" =r25; EE]H"—IG-, {a¥ln =0,

B (1o 625=1. l:'-."'llng.|ﬁ—%. (g o ol=—2,
12 BT A e L

(1 Hog 243="1e [2]1::-g.!:,|7=3|. {3¥n 1=0,

(=243 [21[%}:=_|—. (ihe =1,
@3 kTR N AL

(lilg N=—3, {2logN= %
ST R DR N T R A e e A
Moxihlg N=—3 fiN=10"" =0, 001

2V loga N=—-, 8§ N=87={27)7 =3=¢,

e s

L A R B S o R
(1M og.B=a;  (EMogd' =z,
O (1l leg f=a. i 2 =5, B 2=2",

BTl r=3.
CEVEH log A" =u. 47 =4".
FFl o=3.

s KT Fldrsm .
(1 og.1; (21 og, T Cidlg 1o {d3ln e,
W BRI AR oT R R B 1 R,

A0 A S
(1o 1=0, (2 og:T=1:
(3Mg lo=log,.10=14 (ddn e=log.e=1,
CEZoE

L. BT #1500 8t W el ] s
(113 =729 ”’{-1] =8 (D2ET=5; (10 =1 000,
2o BT A hat T el

ililogbl=3; {2ilogid=—3 (3lgol=—1;

118



1
(400N o=

A RIS IR N L
[l]|-::l|.-.'_-:)||'=%| (EHn N=i, (A N=1.

E A E O LT
C1 og, 36 ﬂlﬂ!lug.%: (Erlg 100: (4o
. T 04 o BOO .

1 aog, 11 (2 HogL s (31lg 10+1n e

T

4.2.2 B, wEma s

WL R o e E

= gamm

W 5H 5.

HETF R AT MBI T R OC R G B E TR

4T
i - qi=H
o log 8 | log, 3% | o CRX320 [ lg 1 oo | lg 1o 000 |Lg % Ig 10" | Glm 100
i
) ) 1o isin .
i [ log 8 | logaSl (o C9EL | g 10 0| g 100 lie T loged® | 3o, 4
i
SEHL | W OE A . W
PEIE | F

FeTer LR B - R AL, W, B R PO
(VR B EMMEm A, 8T 5 — e - e

Hms.

log, [MN)=loz.M +logNia =0, Ba=1, M=0, N=0).

iERE i lopM=p. log.N=q.
g e L. M M=a'. N=a.
Fily 122 M N=gt = g1=g""",
ELEE I LA R R
log, (MN)= p+g=log.M+log.N.

119




